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% b= &= 2013/5/12
REGUS CREST
(RAAEE) BAxvbh=0Gross@Hdcp®I8HNSDHI> My GoLF cLuB
ATILRUT (LR : 36)
BEUR—IL 1.3.6.7.8.9.13.14.15.16.17.18 Grand

Wz K %  [B4|OUT| IN |Gross| Hdcp | NET [letz| K % [EI4|OUT| IN |Gross| Hdcp | NET [l K % [EI4|OUT| IN |Gross| Hdcp | NET

i = 2 43) 52/ 95 25.2| 69.8 71 BIE R 25| 520 54 106 | 30.0 76.0| (141 ERE BE 4 48 55/103  22.8 80.2
=l @A 2 45/ 43/ 88 18.0/ 70.0 72| —Lt #Bl— 25| 48/ 45 93 16.8| 76.2| |142| &Lt fE— 22 54 55109 28.8 80.2
BP —z 2 49 50 99 28.8 70.2| |73 #H# T 5 | 44 49 93 16.8 76.2| |143| tFE IgE 23 48 48| 96| 15.6 80.4
=tz HE 11 41 45 86 15.6 70.4 74| TH —& 3 47| 52 99  22.8| 76.2| |144| EASI F— 4 50 52102 21.6 80.4
=TT} 22 47 57104 33.6 70.4 75| #H BAA 6 49| 50 99  22.8/ 76.2| |45 HHEH = 12| 59 55114 33.6 80.4
feH 2 23 39 46 85 14.4 70.6 76| )i #5% 31 51| 54105 28.8| 76.2| |146| f&H E%= 23 59 54113 32.4 80.6
ke = 9 50 57107 36.0 71.0 77| B8 EHH 10 | 54 51105 | 28.8 76.2| (147 = A& 29 | 56 57/113 32.4 80.6
HFE FTE 25 39 41 80 8.4 71.6 78| HE ME 22| 58 53111 34.8 76.2| |148] A& FEM 34| 47 46 93 12.0 81.0
9| B =5 12 39 34 73 1.2 71.8 79| FF =T 7 51 47 98| 21.6 76.4| [149] BXR % 2 53 52105 24.0 81.0
10| Ak #2=% 10 50 47 97 25.2 71.8 80| && % 9 47| 51 98 | 21.6 76.4| |150| HHE EX 3 57 60117 36.0 81.0
11| %9 F— 6 46 44 90 18.0| 72.0 81| /MNE &% 6 52| 45 97| 20.4| 76.6| [151| EEF 1Fxk 11| 60 57/117  36.0 81.0
12| &% 18t 21 41| 42 83 10.8 72.2 82| IR &E 24 42 48 90| 13.2| 76.8| |152| &HH %=z 7 65 51116 34.8 81.2
13| &Lk FIE 2 37 39 76 3.6 72.4 83| LA 5#E] 25| 48 48 96| 19.2 76.8| |153| [ 3L 17| 62 52/114  32.4 81.6
14| HE 58 10 42 39 81 8.4 72.6 84| XxH H— 10| 48 48 96 19.2 76.8| |154| ¥R MHAE 6 46 49 95 13.2 81.8
15| #®y &3 23 38 43 81 8.4 72.6| |85 ZHN = 5 56 52108 | 31.2| 76.8| |[155| [MH g 3 63 55118 36.0 82.0
16| AF #E 27 43] 50 93 20.4 72.6 86| Tt B 4 57 51108 31.2 76.8| |56 S BEE 14 51 54105 22.8 82.2
17| \K —5H 3 48 51 99 26.4| 72.6 87| =F& EBX 4 43| 46 89 12.0 77.0| |157| f@k J5EE 26 55 53108 25.2 82.8
18| a0 B= 9 40 46 86 13.2/ 72.8 88| =EF X 5 48| 47 95 18.0) 77.0| |158| #FH #BEA 11| 59 55/114  31.2 82.8
19| FE BR 23 41 44 85 12.0 73.0| | 89| 44Kk HE 12| 49| 52 101 | 24.0 77.0| |159| =HH (&3 2 56 57113 30.0 83.0
20 XH ig 4 42| 43 85 12.00 73.0 | 90| ¥A #F 23 44| 44 88| 10.8| 77.2| |e0] EER B3 10| 62 57119 36.0 83.0
21 AR Z& 12 41 50 91 18.0 73.0| (91| =l #&EE 5 47, 47 94 16.8 77.2| |61 KM EF 34 63 56119 36.0 83.0
22| FF BF 4 47/ 44/ 91 18.0/ 73.0 92| /\H 1Bz 5 47| 47 94 | 16.8 77.2| |162| Kk MHE 11| 58 60/118 34.8 83.2
23| IEH FXk 4 51 46 97 24.0 73.0 93| BR = 29 | 49 51 100 | 22.8 77.2| |163] HBE &3 24 | 50 48 98 14.4 83.6
24 T i 5 41 43 84 10.8| 73.2 94| #EH & 2 48| 52 100  22.8| 77.2| |164| —E HIEE 2 58 57115 31.2 83.8
25| & F#h 14 46 44 90 16.8 73.2| |95| #1EBE =EfE 7 46/ 60 106 | 28.8| 77.2| |165| ®u3&E —3h 30 65 55/120| 36.0 84.0
26| #Z1IL ME 23 46 44 90 16.8 73.2| |96| @A FHI 20| 52 54 106  28.8 77.2| |166| HEEP R 17| 57 63/120  36.0 84.0
27| AE KA 6 52 50102 28.8 73.2 97| FEH == 11| 49 56 105 27.6 77.4| |167| &K FhE 4 56 64120 36.0 84.0
28| ®&FE —/X PTA 51 51102 28.8 73.2| (98| Jlt B&E 12| 56 55111 33.6| 77.4| |1e8| LB (& 4 57 63120 36.0 84.0
29| B A 11 39 44 83 9.6 73.4| |99 /Nth ERE 20 48 50 98 20.4 77.6| |169| HH {BE 7 54 52106 21.6 84.4
30 &F& BAA 9 43| 46 89  15.6| 73.4| |10o| LLAF [N 5 48| 50 98 20.4| 77.6| |170| EE H 29 | 66 55/121 36.0 85.0
31| =g #58 39 42| 81 7.2 73.8| |101] AH B 10| 59 51110 32.4 77.6| (171 ¥y @By 24 57 64121 36.0 85.0
32| WTF #EX 2 47| 46 93 19.2 73.8| |102| |LlEx REE 23| 43 42 85 7.2 77.8| |172| WK % 29 | 64 57121 36.0 85.0
33| HA R 8 45 48 93 19.2 73.8| |103| =E E& 6 50 47 97| 19.2) 77.8| |173| =JIl #ALE 6 57 51108 22.8 85.2
34| X¥F #%&— 10 41 39 80 6.0 74.0| |104| LEE ZTW™HE 24 50 47 97  19.2 77.8| |174| 1ERB& BEE 1 59 63122 36.0 86.0
35| #2J7 18 24 43 43 86 12.0 74.0| [105| FE mA 9 52 51103 | 25.2| 77.8| |175| &F FE 1 59 63122 36.0 86.0
36| #H F 25 44 48 92 18.0| 74.0| |106| ¥ ZH$ 5 52/ 51103 | 25.2| 77.8| |176| B&TF B 8 65 58123 | 36.0 87.0
37| &= BT 1 46, 45/ 91  16.8 74.2| |07 BEAK M 19 51| 52103  25.2 77.8| |177] KPR W®E 27| 64 59123 | 36.0 87.0
38| WA 3 5 47, 50/ 97  22.8 74.2| |to08| iRHE #MH 20 54 55109  31.2| 77.8| |178] &H & 37 63 61124 36.0 88.0
39| L B 2} 53 55108 33.6 74.4| [109] FA EBE— 9 60 42102 | 24.0 78.0| [179| & N 12| 64 60124  36.0 88.0
40 B EE 25 43) 45 88  13.2] 74.8| |110] AAXR —E 22| 51 51102 | 24.0 78.0| |18o| #H)Il Xk 0 59 65124 36.0 88.0
41| EH —E 10 45 43| 88 13.2| 74.8| 111l AEFE BE& 23 56 58114 36.0/ 78.0| |181] EFH &EH 6 60 68128  36.0 92.0
42| fEAR E& 14 44 50 94 19.2) 74.8| |112| E 52 43 95| 16.8 78.2| (182 H% & 12| 71 58/129  36.0 93.0
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43| WH # 23 46 48 94 19.2 74.8| |113| FHEAK = 12| 49 46 95 16.8 78.2| |183| @Il EZEB 23| 66 64/130 36.0 94.0
44| 2B B 1 51| 49/100 25.2| 74.8| [114| 1B FHBE K 48 46 94 15.6 78.4| [184] HE BE 4 64 66130 36.0 94.0
45| ¥ =B 6 46 47| 93 18.0| 75.0| |115| TIN & 3 | 45 49 94 15.6 78.4| |185| fE4ES &=z 29 65 66131 | 36.0 95.0
46| SthE FBEE 2 49 50 99 24.0 75.0| |116| #BAO EE 25| 520 54 106 27.6 78.4| |186| &M, 1HEE 21 70 62/132| 36.0 96.0
47| Kb #Ms$E 10 49| 56/ 105 30.0| 75.0| |117| #4S fi2 6 50 56106 27.6 78.4| |187] WLk HBAX 29 65 68133 | 36.0 97.0
48| /NH HER 3 44 42| 86 10.8 75.2| |118] f@AK K 25| 57| 48 105 | 26.4 78.6| |188] K& ZE # | 68 68136 36.0 100.0
49| #® FI= 9 42 50 92 16.8 75.2| |119| /\H FHE 5 53 52105| 26.4 78.6| |189| A &£ 2 | 68 69137 36.0 101.0
50 £E #FX 9 49 49 98 22.8 75.2 (120 EEH ILE 1 | 50 42 92| 13.2/ 78.8| [190] MR KE 29 71 66137 | 36.0 101.0
51 =% IE¥ 34 52| 46 98 22.8 75.2| (121 ¥i's BE 6 46 46 92| 13.2) 78.8| 191 IUAF Epk 22 64 75139 36.0 103.0
52 R BRfE 3 | 59 51110 34.8 75.2| |122| EK 3h\E 2 53 51104 25.2 78.8| |192| EH H— 8 | 69 73142 36.0 106.0
53| f&HE # 9 42 43 85 9.6 75.4| |123| #& Mz 8 | 52/ 52104 25.2 78.8| |193| &mE A& 34 88 80168 | 36.0132.0
54| #FAK & 2 48 43 91 15.6 75.4| |124| HN & 3 | 57 53110 31.2 78.8[ |NR| E&LL g 2

55[ X& A 3 52 51103 27.6 75.4| (125 QR 7% 5 52 45 97 18.0 79.0

56| AH H— 5 49 54/103 27.6| 75.4| |126| A =3k 9 | 49 48 97 18.0 79.0

57( il & 1 54| 49/103 27.6| 75.4| [127| IR = 7 | 52/ 57 109 30.0/ 79.0

58| &0 fz 4 52 57/109 33.6 75.4| |128] LHJIl E— 25 59 56115 36.0 79.0

59( 1Ll R 5 41] 43 84 8.4 75.6| |129] &*® B—HBF 34 57 58115 36.0 79.0

60| E#H &k # 45 45 90 14.4| 75.6| (130 &Il BMI£ 23| 52 50102 22.8 79.2

61| Bt = 11 47 49| 96 20.4 75.6| |131| =y &HABP 23| 56 52 108 28.8 79.2

62| K5 i@ 20 45 51 96 20.4| 75.6| (132 BE et 24 53 48 101 21.6 79.4

63| 148 #BUuE 4 44 45 89 13.2 75.8| (133] AR ZREB 7 | 46/ 42 88 8.4 79.6

64| H+ BlE 10 47 48 95 19.2 75.8| |134| #WE 2 20 47 41 88 8.4 79.6

65| FHA Tl 5 46 48 94 18.0/ 76.0| |135| ;tH HEX 6 52 54106 26.4| 79.6

66| JAHE 3 45 49 94 18.0| 76.0| |[138] &=A =HEA 2 | 54| 58 112 32.4 79.6

67| ITH =KBF 25 49 45 94 18.0 76.0| |137| BEER§ Xk 2 51 48 99 19.2 79.8
68| R 1ERA 5 54 46/100 24.0| 76.0| |138| f{Fz8E —BB % 52 53105 25.2/ 79.8
69| HEI =E 4 47 53/100 24.0/ 76.0| [139| AfRE #— 29| 52 46 98 18.0 80.0
70| =& PZEA 5 48 52100 24.0 76.0| |140| &®L —f& 5| 57| 53110 30.0/ 80.0 Zh0E : 193%




